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1. W4 BRALFRE (g) « W —AFB(mL)N 1: 5~10 BB CGERIREZ) 0.1g A4, i 1mL
Fl—) FATIKIBEIH . 16000g, 4°CES.Cr 20min, B35 B IK AR,

2. H. HIE: HRARSE 00 o B H AR (mL) A 500~1000: 1 FIELET CGE2IX 500 340
I ImL 57— ), UKV 8P B B A (Th %6 300w, &S 3 Fb, (ARG 7 #0, &N (8] 3min);
16000g, 4°CHE.0» 20min, B E VK BRI .
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ADH J7E 34k :

1. 23R /B FRAX T 30 min, AT H] 340 nm, ZEMKIFHE.

2. RFI = 25°C/K B H - 30 min.

3. EMEA S EIL/96 FLAR AR 20ul HE4 EIE. 160uL 375 =0 20pl #GH0Y, SRS ET
340nm W RCEAL, 7 iek 15s F 75s BIROGAE, Z0ilich A1 A2, AA TIEE=A1-A2,
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ADH (nmol/min/mg prot) =(AA+e+dxV & x10%)+(CprxV ££)+T
=1608xAA +Cpr
(2) FZMREA TR
TR E X 25°C AR SRS B AL Inmol NADH Ay 1 MBS B4 .
ADH (nmol/min/g #£ ) =(AA+e+dxV REX109)+H(WxV #+V FEE)+T
=1608xAA +W
(3) 1EgpEcE 5
TEVERALE X 25°C A 104 MR AR5 4L Inmol NADH 1 /MEgE $ 47
ADH (nmol/min/10%cell) = (AA+e+dxV [ Ex10%) ~(4IREE XV BV )T
=1608xAA 41l % =
(4) FBIBAARFRH
TEYERRALE X 25°CH R MIE R3804 44 Inmol NADH 24 1 AMERE B4V
ADH (nmol/min/mL) =(AA+e+dxV s x10%) +V BT
=1608xAA
e: NADH EE/RH 2%, 6.22x10°L/mol/cm; d: ELEILYEAR, 1 em; V S RNARRERF, 200u0L=2x10+
L; Cpr: FIBEWEEFKE, mg/mL; W : FMFE; VI WARMERS EFEBRAER, 20uL=0.02
mL; VAR REGEAR, 1mL; T: MNEIE, 1min.
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TR E X 25°C R T (RBP4 1nmol NADH 2y 1 ANBEE 547

ADH (nmol/min/mg prot) =(AA+e+dxV [ Ex10%) +(CprxV ¥£)=T

=3215x AA+Cpr
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TR E X 25 C AR H LU /B AL 1nmol NADH A7 1 ANBREE B4

ADH (nmol/min/g #£H) =(AA+e+dxV JREx10%) «(WxV BE+V #£5)=T

=3215xAA+W

(3) 2 HCE T+

TEERALE X 25°C A 104 AN A5 B %4 1nmol NADH A 1 /MERE B4 .
ADH (nmol/min/10%cell) =(AA+e+dxV [ x10°) (R EE <V -V FEE)+T

=3215x A Al &

(4) HERIBARFRH

TR E X 25°C R THILE R/ 8P %24k 1nmol NADH Ay 1 ANBEE HL47
ADH (nmol/min/mL) =(AA+e+dxV i x10%) +V BT

=3215xAA

e: NADH EE/RIEJE A E, 6.22x103L/mol/em; d: 96 LAY/, 0.5em; V RE: KMNAAR A,
200pL=2x10“L; Cpr: EEWEAFIKE, mg/mL; W : FEREE: VFE: IARNER S EBERER,
20pL=0.02 mL; V FE&: FREBORMAM, 1mL; T: KB E, 1min.



